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There is substance in his money — Rwan 752 MR MR

OVERVIEW

The X3 explains the reason >3 disagrees with 2" that 1131 Dwn WK, is because a
person’s money has substance, however the fire has no substance, so it cannot be
considered 1117 (but rather 1°X17). N800 discusses this concept whether all the 11
(which we consider 11177) have substance.

mooIn anticipates a difficulty:
- Hyvany XYY 19309 7990 NAMNY RYNN N%3 1Y 937 22 Yy 9N

Even though a ‘pit’ has no substance (especially) according to the one who
maintains that when the 770 obligated the owner of the pit to pay it was on

account of the foul air in the pit, but not on account of the blow; why therefore
does °" maintain that WX cannot be 117m» 2w because it has no substance, when we find that 712
which also has no substance and nevertheless it is 1217 21Ww7 2°°m0.

mooIn responds:
- 2mwnn nra N P19 7955 9997W 18N )PP 13991 DIPN Yon

Nevertheless a ymm»n style P like 19217, whose manner is to travel and do

damage, has substance. We cannot derive anything from M2 regarding WX, since M2 is a
passive p 1 (and does not need to have substance), however an active 1 like WX must have
substance in order to be considered 1111, and since it has no substance it can only be 2wWwn 21
VXA,

mooin offers an alternate response:
= RYUNN N2 H’N 22UN 29) 92 ) N

Or you may also say that 912 too is considered Nwmnn 792 DX -
- 2550 Ny YPAP DY MYUNN NINYN 913N N9 27 Hyd

For through the digging of the =13, the substance of the ground changed and

! This is the view of 27 later on 2,3. YXw argues with 27 and maintains that Yan5 w"21 27 7790 7270w 102.
2 The 770 informed us that there are various P11 including M ,wX ,72 and a7X. The question is, under which
category is W¥; is it like the P 1n of (7127) MW which are 1277 or is it under the category of (and similar to) p>1am O7X.
73 " maintains that it is not similar to MW since WX has no substance. Even though 712 has no substance and is
nevertheless considered 111n; however WX is completely different from 712 since WX is active and 72 is passive,
therefore we wish to include WX under the active 2°p°m either "W or O7R; therefore >3 concludes it is more similar to
¢ than to MW which has substance. Later n1901n will show that by 1°¥n1 there is also a case of no substance. See
‘Thinking it over’.
? Therefore since by digging a M2 it is considered Xwnn 72 N°X, so even by opening (the cover of) a M2 it is included
in the digging of a 712 (see X"aw").
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became hollow; this is considered Xwnn 2 X -
- 4IWYY PYYT DUPIY RIN IMYNN DINYM K NIAYY YN BYFN YN

However when the flame goes through an area, the substance of the flame

(which is doing the damage) does not change, but rather it ignites and burns;
therefore it is considered Xwnn 7°2 n°5.

nooIn asks:
= NUNN N2 1799 ) 19999 99NN ON)

And if you will say; we also find cases of 11127 where it is @22 5792 n%% even when

their damage is done actively, not passively like 712 -
- by PN D191YDY NIINT 41",7‘1’2: Y92 ©12992Y NI MNIN 1D

For instance a damage of Mm% which is caused by the wind of their wings,
mentioned in the beginning of our P92, where according to 015210 he pays a

w''1. Let us therefore compare WX to this type of damage which is Xwnn 7°2 n°% and is considered
M.

N1B0IN answers:
- UMM D93 5N 12 YUY PN 91 0179 Y9Nt 95 v

And one can say; that nevertheless the body of his money in which he was

negligent (i.e. the rooster) has substance, therefore he is liable 1mn 21w -
- 927 ©IYA XYY N2 KY 751 XYY 139999 MUY 1Y vrv

For he should watch his belongings that it should not damage, not by a wind

(flapping its wings) and not through any other means -
- YUAY N2 XWNM 12 NP XYY 19919 OV PN)

And there is no instance of %% where there is no substance in that in which
he is negligent.

mMdoIN responds to an anticipated difficulty:°

* 2,r. The xn™M2 there states that if roosters damage something by the wind of their flapping wings (it caused a
vessel to break) this is considered N7 (an animal damaging by flinging pebbles while walking). There is a dispute
whether MM7X pays a 1"17 (the view of the 7127) or a w"1 (the view of 0101m10). Granted that *"9 agrees with the 7127
that M1719% 1"1 is a >1°0n AW 7997; however we can derive from 019110 (who claims there is no such a »n"9%7) that
when this would happen according to the 7127 when it is not N111¥, they too would agree that he would be liable for
a w"1 even though the damage was done through a medium which Xwnn 72 2 (the wind). See footnote # 5.
> moon perhaps chose not to bring proof from the 1327 (that there is a MMI% 277 even by a Xwnn an YT 727),
because it is possible to refute this proof arguing that we do not find a w"1 21°n (like there is by wx) for a 2 n°97 727
Xwnn.
® Now that moon is saying that by all 7w he is 107 732 ywd (even though the actual P is Xwnn 772 n°Y), the
question is that w& and yn are also 1mn; for the yr is mMwnn 12 w° and the object which is burning is also Xwnn 12 v,
so WX can be included in the category of 11n, since the thing that is burning is Xwnn 772 w°.
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- 159 1192 595 925W 1N MWNM 13 PRY YN VI YaN
However there is an ‘arrow’ which has no mwnn, for instance if he broke a

vessel through blowing on it with his mouth -
= (8,05 97) 93 902 1399N79 NYNN XY NANDY 1N MWNM 13 PRY YN U

And there is a ‘fire’ which has no nwn»», for instance a flame without a coal,
as the X9»3 states in the end of 7732 noon -

10180 S92 5912 YWOY DTN MYUNN DNIVA PRY 3171Y 1191 7990
Therefore wX and yn are similar to each other, for there is no substance in
either of them regarding the p>» in which he was negligent, (even though there
is substance) only in the body of the person who is causing the damage.

SUMMARY

We cannot include WX as p>1w 1177 even though M2 is Man, either because WX is
P12 72°% 1977 as opposed to M3, or M2 is considered Xwnn 7°2 NX since it is dug
out. In all cases of p*17Ww 1111 the item in which one was Y15 there is Xwnn (even if
the actual P>t is Xwnn 7°2 n°?); however by WX yr there is an instance where there
is no Xwnn even in the P> for instance blowing by yn and n>mx X72 N27%w by K.

THINKING IT OVER

N1BoIN maintains that we cannot use 712 as an example that there 1s a 1211 DWn 210
even by a Rwnn 2 PRY 117, since WX is pUTAYY 799 1977 as opposed to 112’
Seemingly however it would seem the opposite; if by 72, which is a lesser p™»
than WX (for M2 is p°121 79°% 1377 PX), nevertheless it is 1mn DWn 21 even though
it is Xwnn 772 n°%, so certainly W& which is a more severe P12 (for it is 77°% 1377
>'117%7) should be 1m» Dwn 20 (even though Xwnn 792 nv9) 2!

" The mwn there states; Mwd NA72w1 20 2"77% NS ®*¥7. Once we find that there is WX which is Xwnn 72 0% (and
must therefore be 127 01wn 2°°17), we assume that this applies to all the o°p>m of WX (even when Xwnn 712 w°; where it
is nMY MWp).
¥ Moo may be saying that regarding damages of 1mn the cause of his liability is his negligence in watching his
property (but not in the immediate cause of damage; i.e. the wind), therefore in all cases of 117 it is Rwnn 772 w°.
However by a person who damages the cause of his liability is not on account of his negligence of watching himself,
but rather the liability is because of the object that causes the damage (i.e. the ‘arrow’) on account that the person
threw the arrow. Therefore when the arrow has no substance, as where he blew on a %3, it is considered 2 n°
Xwnn. See 179p NI "2,
? See footnote # 2.
10 See p"mow and 43 # TmHNT WO XX,
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